1 034058130 K=

<NER>
[EE]
18 28 38 48 58 6H 7H 8B 98 108 118 128 55
EIRE 5.3 3.6 3.6 3.4 25 2.7 26 3.2 4.2 3.3 4.2 4.0 35
EHEI—D 0.7 0.7 0.7 05 0.6 05 0.6 0.7 0.7 0.6 0.7 0.8 0.7
oM Ais | 1A% | 20 Aih | 3 AlS | - Bt | 55 AlG
HiEI— Q) 0.5 0.9 0.7 0.6 0.6 0.5
[#8E]
18 28 38 48 58 6H 7H 8B 98 108 118 128 55
EIRE 14 1.6 1.7 43 13 2.3 48 1.2 6.6 5.3 5.8 43 33
EHEI— ) 0.5 0.3 05 05 0.0 1.1 0.4 0.2 14 0.6 0.7 0.7 0.6
oAt | 1A | 2o Ath | 35 A5 | 4v Rt | 55 Ath
EHEI—O) 0.8 1.3 0.5 0.3 0.3 0.1
[Z D]
1H 2H 3R 47 58 68 718 8H 9H 108 118 128 &%
EHE 2.3 0.0 3.2 11.5 0.0 0.0 3.3 0.0 15 7.7 8.6 34 2.6
EEI— ) 0.0 05 0.6 1.1 0.0 0.3 0.8 0.0 05 0.7 0.7 0.0 0.4
oM At | 1A | 20 Ath | 35 A5 | 4v R | 54 Ath
EHEI—O) 0.2 0.5 0.7 05 0.2 0.7
[FLA]
18 28 38 48 58 6H 1H 8H 98 108 118 128 =
EHE 7.1 6.6 5.1 46 35 3.1 2.2 3.8 45 45 49 5.8 46
EHEI—D 1.3 1.0 0.9 0.8 0.6 0.5 0.6 0.9 08 0.8 0.9 1.0 0.9
oM Atis | 1A | 20 At | 35 A5 | 4- R | 54 Ath
EHEI—O) 0.6 0.8 0.8 0.8 0.7 0.6
[3#]
1H 28 38 48 58 6H 1H 8H 98 108 118 128 =
EFSER 5.4 5.2 46 3.6 24 2.6 2.3 3.1 34 34 38 42 36
EHEI—D 1.1 0.7 0.8 0.6 05 0.5 0.6 0.7 0.6 0.7 0.7 0.8 0.7
oAt | 1A | 25 At | 35 A5 | 4v R | 55 At
0.5 0.7 0.7 0.6 0.6 0.6

EHEI—Q




